Proposed NU Business Name: JAKIR ELECTRIC HOUSE



Project identification and prepared by:Md. Saidullah, Dupchachia Unit, Bogra

Project verified by: MD. Mozaharul Islam



Brief Bio of The Proposed Nobin Udyokta						
Name		MD. JAKIR HOSSAIN				
Age	:	20-07- 1991(24 Years)				
Education, till to date	•	Class: Ten				
Marital status	:	Unmarried				
Children	:	0				
No. of siblings:	:	01 Bother 01 Sister				
Address	:	Vill: Narhotto, P.O: Narhotto, P.S: Kahalu Dist: Bogra				
Parent's and GB related Info (i) Who is GB member (ii) Mother's name (iii) Father's name (iv) GB member's info		Mother Father MST . JAMILA BEGUM MD. NAZRUL ISLAM Branch: Narhotto Kahalu, Centre # 52 (Female), Member ID: 3832, Group No: 03 Member since: 17-10-2002 To 2008 (06 Years) First Ioan: BDT 10,000				
Further Information: (v) Who pays GB loan installment (vi) Mobile lady (vii) Grameen Education Loan (viii) Any other loan like GB, BRAC ASA etc	: : :	Existing Loan: BDT 20,000, Outstanding loan: Nil Father No No No				

BRIEF BIO OF THE PROPOSED NOBIN UDYOKTA (CONT...)

Present Occupation(Besides own business, i.e., persuading further studies, other business etc.)	:	Nil
Business Experiences and	:	02 years experience in running business 02 Years in own business.
Training Info	:	He has no training.
Other Own/Family Sources of Income	:	-
Other Own/Family Sources of Liabilities	:	None
Entrepreneur Contact No.	:	01724-272889
Mother's Contact No.	:	01928-607734
NU Project Source/Reference	:	Grameen Shakti Samajik Byabosha Ltd. Dupchachia Unit, Bogra

BRIEF HISTORY OF GB LOAN UTILIZATION BY HIS FAMILY

MS JAMILA BEGUM joined Grameen Bank since 02 years ago. At first she took 10,000 taka loan from Grameen Bank. She gradually took loan from GB. Utilize loan in business.

Proposed Nobin Udyokta Business Info					
Business Name	:	JAKIR ELECTRIC HOUSE			
Location	:	Dorgarhat Bazar,Narhotto, Kahalu, Bogra			
Total Investment in BDT	:	BDT 246,000/-			
Financing	:	Self BDT 176,000/-(from existing business) 75%			
		Required Investment BDT 70,000/-(as equity) 25%			
Present salary/drawings from business (estimates)	:	BDT 5,000/-			
Proposed Salary	:	BDT 5,000/-			
Size of shop	:	15 ft x 25 ft= 375 square ft			
Implementation	:	 The business is planned to be scaled up by investment in existing goods like; TV, Rice cooker, Fan, Electric items etc 30% Gain of sale. The business is operating by entrepreneur. Existing no employee. Collects goods from Bogura, Dhaka Agreed grace period is 3 months. 			

Existing Business (BDT)					
Particular	Daily	Monthly	Yearly		
Revenue(Sales)					
TV, Rice cooker, Fan, Electric items	2500	75000	900000		
Total Sales (A)	2500	75000	900000		
Less Variable Expense					
TV, Rice cooker, Fan, Electric items	1750	52500	630000		
Total variable Expense (B)	1,750	52500	630000		
Contribution Margin (CM) [C=(A-B)	750	22500	270000		
Less Variable Expense					
Rent		800	9600		
Electricity bill		1000	12000		
Transportation		1500	18000		
Salary (self)		5000	60000		
Guard		300	3600		
Salary (staf)		0	0		
Entertainment		500	6000		
Mobile bill		600	7200		
Total fixed cost (D)		9,700	116400		
Net Profit (E)= [C-D]		12,800	153600		

Investment Breakdown								
Existing					Proposed			
Particulars	Qty.	Qty. Unit Amount			Qty Unit Price		Proposed	
		Price	(BDT)			(BDT)	Total	
Cealing Fan	7	1200	8400	0	0	0	8400	
Gift Items	100	600	60000	14	600	8400	68400	
Rice Cooker	5	1200	6000	10	1200	12000	18000	
ТV	9	7000	63000	5	7000	35000	98000	
Electric Items	40	250	10000	100	250	25000	35000	
Others	90	100	9000	0	0	0	9000	
Security	1	20,000	20000	0	0	0	20000	
Photo Copy Machine	1	60,000	60000	0	0	0	60000	
Total	253	0	176,000	129	0	70,000	246000	

Financial Projection (BDT)							
Paticular	Daily	Monthly	Year1	Year 2	Year 3		
Revenue(Sales)							
TV, Rice cooker, Fan, Electric							
items	3,500	105000	1260000	1323000	1389150		
Total Sales (A)	3,500	105000	1260000	1323000	1389150		
Less Variable Expense		0	0	0	0		
TV, Rice cooker, Fan, Electric							
items	2450	73500	882000	926100	972405		
Total variable Expense (B)	2,450	73500	882000	926100	972405		
Contribution Margin (CM)							
[C=(A-B)	1,050	31500	378000	396900	416745		
Less Variable Expense			0	0	0		
Rent		800	9600	10080	10584		
Electricity bill		1200	14400	15120	15876		
Transportation		1800	21600	22680	23814		
Salary (self)		5000	60000	63000	66150		
Salary(Staff)		5,000	60000	63000	66150		
Guard		300	3600	3780	3969		
Entertainment		600	7200	7560	7938		
Mobile bill		800	9600	10080	10584		
Total fixed cost (D)		15,500	186000	195300	205065		
Net Profit (E)= [C-D]		16,000	192000	201600	211680		
Investment Payback			28,000	28,000	28,000		

Cash flow projection on business plan (rec. & Pay)

SR#	Particulars	Year 1 (BDT)	Year 2 (BDT)	Year 3 (BDT)
1	Cash Inflow			
1.1	Investment Infusion by Investor	70,000		
1.2	Net Profit	192000	201600	211680
1.3	Depreciation (Non cash item)			
1.4	Opening Balance of Cash Surplus		160,000	329,600
	Total Cash Inflow	272,000	361600	541280
2	Cash Outflow			
2.1	Purchase of Product	70,000		
2.2	Payment of GB Loan			
	Investment Pay Back (Including			
2.3	Ownership Tr. Fee)	28,000	28,000	28,000
	Total Cash Outflow	112,000	28000	28000
3	Net Cash Surplus	160,000	329600	509280



Strength

Employment: Self: 01 Family:0 Others:0 Experience & Skill : 02 Years Quality goods & services; Skill and experience;

W_{EAKNESS}

Lack of Capital/Investment

O_{PPORTUNITIES}

Huge demand in the community Location of shop; Regular customers;

THREATS

Theft Fire Political unrest Pictures











৪নং নারহট্ট ইউনিয়ন পরিষদ কার্য্যালয় গণপ্রজাতস্তা বাংলাদেশ সরকার উপজেলা ঃ কাহালু, জেলা ঃ বন্ধড়া ব্যবসা এবং বুক্তির জন্য লাইসেন্স stadi. 15 20 Oak (১২ (১) নিরম প্রষ্টব্য) 812 2200 Esta ac - Corrorge large roradog à 12 CHA 20 6-52 THE IST BY TU, CATEL: BIT. 5/12 20122128 to al at grison the market the teres ইতিনিয়ন ঃ নাগহট, উপজেলাঃ কাহালু জেলাঃ বা fautio many las লাইদেন ধারীর নাম ঃ ক্রা: -- জনা বিষ্ঠ -- জি গার্হ 3002300 शिष्ठा/शाहीत नाम :: २६१२के छाया मार्ग र छा लास 511320 (2023 NJO-2: Stora-6-"দ্বদ্রাস্থ্যস্থ প্রান্ধ্র ইতিনিরন ঃ নারহট, উপজেলাঃ কাহালু, জেলাঃ Tare hand a sorand সামের পারনার বিজ্ঞান হয়। দিয়া ৩০শে জন/২০১ ৫. মৃহ পর্যন্ত ব্যৱসার্থিতা পেশ -Estaron Ergro Z. PICARTIA Wo Gra 1 588. 2. Charles & Co. Terrar : her 21 CON Proper to 2 10 २। प्रयम गर्भः ताः मण्डित त्रयात मजल- लिज मखत जानिम्ठा वाःकार्धकी स्रम्लमात लिला बिन्दर् उपाल्का काष्ट्राजू रक्ष्मा वर्ध्रा My Chan 210) as my 51 strat aches harts -1103 61 mbrost 14124 २। द्विजेस १३४ः रमाः जातित द्वासन लिखा मा जाखीयजा वाष्मारपत्नी- यूपलमान रभन्मा यावमा नावद्वी देणार्फना काष्ट्रानू रफ्निग वक्षुड्वा 27 6-1 51 5 राया का कार्य कार्या के कार्य कार्या के क

FAMILY PICTURE

